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1. Laske seuraavat käyräintegraalit

a)
∫

γ

sin z

z − i
dz, kun γ(t) = 2eit, t ∈ [0, 2π],

b)
∫

γ

sin h z

z − πi
dz, kun γ(t) = πi + 2eit, t ∈ [0, 2π].

2. Määrää
∫

γ

ez

z(z − 2i)
dz, kun

a) γ(t) = eit, t ∈ [0, 2π], b) γ(t) = 3eit, t ∈ [0, 2π].

3. Laske
1

2πi

∫

γ

eaz

z2 + 1
dz, kun γ(t) = 3eit, t ∈ R, kun a ∈ R on vakio,

jolle a > 0.

4. Laske
1

2πi

∫
eaz

(z2 + 1)2
dz, kun a ja γ ovat kuten tehtävässä 3.

5. Laske

a)
∫

γ

eiz

z3
dz, kun γ(t) = 2eit, t ∈ [0, 2π],

b)
∫

γ

sin z

(z − π
6
)3

dz, kun γ(t) = eit, t ∈ [0, 2π].


